» MODEL

P16-A3-F-R-S-01

Variable volume piston pump Pressure adjusting range Rotation(Viewed from shaft end)
8 = = 2 R: CW

Displacement 0:1~4 Mpa (10~40 kgf/cm?) .

08, 16, 22, 36, 46, 70, 100, (cm*/rev) 1:2~7 Mpa (20~73 kgf/cm?) ERCeN

Control options 2 : 3~14 Mpa (30~145 kgf/cm?) Shaft options

(Standard type) . 3:3~21 Mpa (30~215 kgf/cm?) S ¢ SAE Spline

A ¢ Pressure compensating type

(Option type) 4 : 3~28 Mpa (30~286 kgf/cm?) Cylindric, Key (Code omited)

B : Remote pressure control type 5
C : Two pressure-two flow control type Mounting Design code
D : Solenoid cut-off control type

F:Fl ti
E : Two pressure cut-off control type ange mouniing

HL : Load sensing control type L : Foot

Delivery at no load £/min

. Max setting Drive speed min”!
Pressure adj. range pressure Mass
2
em/rev | 1000 min| 1200 min'| 1500 min’ | 1800 min | MP® 9™ | Mpa (kgt/em)| min | kg

Volume

P0O8-A 0-F-R-01 2~4 (20~40)
1 2~7 (20~73)
2 8.0 8.0 9.6 12.0 14.4 3~14 (30~145) 25 (255) 500 2000 9
3 3~21 (30~215)
P16-A 0-F-R-01 2~4 (20~40)
1 2~7 (20~73)
2 16.5 16.5 19.8 24.7 29.7 3~14 (30~145) 25 (255) 500 2000 12
3 3~21 (30~215)
P22-A 0-F-R-01 2~4 (20~40)
1 2~7 (20~73)
2 22.0 22.0 26.4 33.0 39.6 3~14 (30~145) 25 (255) 500 2000 12
3 3~21 (30~215)
P36-A 0-F-R-01 2~4 (20~40)
1 2~7 (20~73)
2 36.0 36.0 43.2 54.0 64.8 3~14 (30~145) 25 (255) 500 2000 23
3 3~21 (30~215)
P46-A 0-F-R-01 2~4 (20~40)
1 2~7 (20~73)
2 46.0 46.0 55.2 69.0 82.8 3~14 (30~145) 25 (255) 500 2000 23
3 3~21 (30~215)
P70-A 1-F-R-01 2~7 (20~73)
3 70.0 70.0 84.0 105.0 126.0 3~21 (30~215) 28 (286) 500 1800 41
4 3~28 (30~286)
P100-A 1-F-R-01 2~7 (20~73)
3 100.0 100.0 120.0 150.0 180.0 3~21 (30~215) 28 (286) 500 1800 60
4 3~28 (30~286)
214 (MAX)
i 164.5 (MAX) 49 Drain Pressure Adj. Screw
Flow Adj. Screw 6 PT3/8" "T Qil Supply Port
25 5
Key4.76 1381
g f \ 75 g
— +7 —
118 | %
L T@&Jg ¥
Outlet 1 og o§ 106.4
PT1/2" ] N
S| & Outlet 110 Inlet
s PT1/2" 130 PT1/2"
( Flow adjusting length The relation between flow adjusting
(Flow adjusting screw) length ({) and pump displacement (q)
o 10
S
()
§ ° Py
o =
s o
S 4
Q u
E 3 __~Flow adjustling range
Inlet a 2 : I
cmd/rev

10
Flow adjustling length { mm



STANDARD TYPE

Curves

Outlet

Flow Adj. Screw

A

Control Type

Pressure Adj. Screw

OPTION TYPE

B

Remote Port

Flow Adj. Screw

i

PH Pressure

( Adj. Screw
QH Flow PL Pressure
Adj. Screw Adj. Screw

QL Flow
Adj. Screw

Pressure Adj. Screw

15

(SOL"ON")

i

SoLb

q &

Flow Adj. Screw 2]
@
DN f
NS
Pressure Adj. i i Pressure Adj.
Screw - J [j Screw
(SOL"OFF") =on (SOL"ON")
Flow Adj. Screw —
®
oo\
& ¢

Pressure Adj. Screw

HL

Load Control Poit

s B02

S| W

Outlet

Outlet

H
)
i
— Pressure
2
)
[ —~——
—— Pressure
qH 5
2
8 PL ‘
o
PH ‘
— Pressure
_% SOL
i HON"
—— Pressure
3
o
[T
—— Pressure
2
o
[

— Pressure

Outlet

Pressure Compensating
Type (Manual)

« When the pressure reaches the
value set with the compensator,
the flow is reduced automatically
and the set pressure is maintained.

« The pressure and flow are
controlled manually.

Remote Pressure Control

Type

+ The pressure can be controlled
according fo the pilot pressure.

+ The flow can be controlled
manually.

Two Pressure-Two Flow
Control Type

+ By means of the sequence
valve, two stage flow rate can
be obtained and each flow
rate has the different pressure
eventually enabling energy
savings.

Solenoid Cut-Off Control

Type

+ An unloading solenoid valve
is used to minimize the lost
energy when the pump output
is not required.

+ Heat generated is very small.

Two Pressure Cut-Off
Control Type

+ By means of "ON" "OFF"
control of solenoid valves,
two different pressure
compensating types can be
obtained.

Load Sensing Control

+ The "HL" compensator is used for
load sensing circuits and is a true
load sensor. This is the "B' compensator
with a pin in the compensator spool.
The pin prevents pilot flow from entering
the circuit which will eliminate creeping
of the load.

+ The "HL" compensator will let the
pump deliver a constant flow rate to
the circuit by providing an adjustable
AP across the customers orifice or
valve. The pump will operate at
17.2~27.5 bar (250-400 psi) above
"Load pressure".



Pressure Compensating Type

‘ 245 (MAX)
Drain 77 49 Pressure Adj. Screw 42 Oil Supply Port
Flow Adj. Screw 0 PT3/8" 23| 6
— ‘ 254| 5 1
= Key4.76 *38!
L — o N
w0 ﬁ 8 @ 3 - ®
© © 4 o5 3 K N - 5
D -1 0 1S Vs t
o 8V}
;} D/ 2 @/@é N
© —— il
§ 5
22.2 13 o3 O§ 106.4
AMI0X16 153 8 o Outlet 124 Inlet
181 g & SAEJ518b-3/4" 130 SAEJ518b-1"

The relation between flow adjusting

[ _ Flow adjusting length length ({) and pump displacement (q)

(Flow adjusting screw) 25
o 22
T 20
[
aE> 16.5
& 15 2
[*%
.
qQ 10 &
£ <
=}
a
[ = ——
cmd/rev 7 AFlow adjustling range
L [ ]
5 10 15 20 25

Flow adjustling length { mm

‘ 310 (MAX)
93 60
6 .
Drain Pressure Adj. Screw _ 45 Qil Supply Port
Flow Adj. Sorew| PT1/2" | ‘
38 4
L ' — Key 6.35 *881
— - te]
[}
/o o\ | | g 5 f \ o ol
_ o8 o ol @
™ ] © ﬁ Q Aal I
X | g k%
00 95 S o
<
N mEr s g o @ ﬁ
26.2 T e
4-M10X16 Q9 144
221290 g Outlet 146 nlet
SAEJ518b-1" 170 SAEJ518b-1 1/4"
(  Flow adjusting length The relation between flow adjusting
‘(Flow adjusting screw) length ({) and pump displacement (q)
50
=i :
o
‘g 40
£ 36
g &
- g ® A 4%
i 3 &
© <
o 20
£
> -
o 10 -
4-M10X16 cmdfrev 7 Flow adjustling range
Inlet 0 ‘

10 5 20 25 30 35
Flow adjustling length { mm

BO3 s



Flow Adj. Screw

58.7

Remote Pressure Control Port
PT1/4"

Pressure Adj. Screw

do

[

Oil Supply Port

Drain
PT3/4"

34

|

T
50 5
Key7.94+301

Aul

o @

~D

\~~23

@ |4
SN

—

2127 805

o3 |es
302 \4M10X16 17 | 8 0| 8
223 85 =8
296 (MAX) S
306 (MAX)

(  Flow adjusting length

Pressure Compensating Type

Z
®

Outlet

-

128 \ \

Inlet

SAEJ518b-1 1/4"

172 SAEJ518b-1 1/2"

The relation between flow adjusting

length ({) and pump displacement (q)

10 15 20

25

(Flow adjusting screw) 80
o
g 70
5
—— S & &5
° 3 &
o T 5 4
b3 g
® © £
7 @ o a4 ,
cmdfrev {Flow adjustling range
4-M12X20 30 \
35.7 10 15 20 25
Inlet Flow adjustling length { mm
Pressure Adj. Screw Drain
Remote Pressure Control Port Oil Supply Port /praj 57
PT1/4" 3/
Flow Adj. Screw 91
é O ® ° 0.01 AOOG < fe)
‘e e — Key 9.53 1§81 S 4 o 2
1 1) 59
-4 -
| ©
D[ o © g o
XD <
o
n
Q
w @mq o
N
b W 5
429\ 4-M12X20 25 | || 8 os| 8 Outlet Inlet
257 3 5 SAEJ518b-2" SAEJ518b-2"
347 (MAX) ) sl ¥
The relation between flow adjusting
(| Flow adjusting length length ({) and pump displacement (q)
(Flow adjusting screw) 110
M 2 100
=
£
- § %
2 80
& © 3
o 70
e} €
N g 60 !
1 cmrev 56 Flow adjustling range
4 " :
) =3 o 50 ‘ ‘
_J 40
4-M12X20

mmmmm B04

42.9
Inlet

Flow adjustling length { mm



Remote pressure control type

PO8-B-TYPE

214 (MAX)
Remote Pressure 164.5 (MAX)
Control Port 93.5 49
PT1/4" 18 Differential Pressure
e BN (Non-Adjustable) 47
Flow Adj. Screw 0 Drain 29 Oil Supply Port
- PT3/8"
] 254| 5 DA ]
‘ Key4.76 *381
B © S
o g -
P 2 8
(T -1 e N : L
ﬁr k ; |
e} (=2}
i i
Outlet o3| & Outlet Inlet
11 8 o PT1/2" PT1/2"
o &
1)

P16-B-TYPE / P22-B-TYPE

245 (MAX)
Remote Pressure 105 49 Differential Pressure
Control Port 5 (Non-AdjustagIg)
PT1/4 Drain , 42 | Oil Supply Port
Flow Adj. Screw PT3/8 054l s A
Y 2
Key4.76 381 &
8 o
e o g - @
el 3 - N~
| — } e
[Te} Iy - '
Te}
o~ ;
. © )% | J : B
5 = .
222 125 o3| &8 o 106.4 \
4-M10X16 153 - 8 o utlet 124 Inlet
181 s & SAEJ518b-3/4" 130 SAEJ518b-1"
Q
317 (MAX)
Drain 88 60 Differential Pressure
Remote Pressure pPT1/2" Non-Adjustable)
Control Port 6 45 Oil Supply Port
Flow Adj. Screw
( I —
Y aps- N 38 3 -
/) Key6.35 301 -
0 + N @ =]
[0} o )
© T $ $ S 8 x - g
\\ ) © > |
1)
e E J p
3 = =\
N 1 -
0
15 g o
262 i 144 Inlet
190 ol v 146
4-M10X16 & Q " ;
— 290 N SAEJ518b-1 170 SAEJ518b-1 1/4
S ;

BO5 mmem



Two pressure-two flow control type

P16-C1 A3-F-R-01

L Design code
Rotation R : Clockwise(CW)

Mounting F : Flange mounting L : Foot mounting
PH Pressure adj. range A2 : 30~145kgf/cm? A3 : 30~215kgf/cm?
PL Pressure adj. range  CO : 20~40kgf/cm? C1 : 20~73kgf/cm?
Displacement 16, 22, 36, 46, (cm?®/rev)

P16-C-TYPE / P22-C-TYPE

311 (MAX) PH Pressure Adj. Screw
262 49 PL Pressure Adj. Screw
Drain 42
QH Flow Adj. Screw PT3/8" ” 6 Oil Supply Port
; 254 | 5
Key4.76 *881 ]
[<IREr) o
3 — =~ -
5 8\ | 1 s
RN T3 %L
% t t
0
o & S
QL Flow Adj. Screw © AR TN S, ©
5 " B -
222 13 2 & 106.4
AM10X16 153 8 o Outlet 124 Inlet
- 181 % N SAEJ518b-3/4" 130 SAEJ518b-1"

P36-C-TYPE / P46-C-TYPE

370 (MAX)
PH Pressure Adj. Screw
310 (MAX) 60 45 PL Pressure Adj. Screw
Drain 93 6
PT1/2"
QH Flow Adj. Screw Oil Supply Port
x 38_| 4 -
Key6.35 *39] b
_ i ST
) © =] ]
8 2.0 ! g N . o
— 92 f \ Rl R
™ 1| Q B N q A
> : 2
QL Flow Adj. Screw < © S8 S °
i | 25 A T ©
L S 8
26.2 15 (et
J 144
4-M10X16 190 S Outlet 146 Inlet
222 SAEJ5180-1" 172 SAEJ518b-1 1/4"

mmmm B06



» Solenoid cut-off control type

P16-D 3-F-R-01

Design code
Rotation R : Clockwise(CW)

Mounting F : Flange mounting L : Foot mounting
Pressure adj. range 2 : 30~145 kgf/cm? 3 : 30~215 kgf/cm?
Solenoid cut-off control type

Displacement 08,16, 22, 36, 46, 70, 100, (cm3/rev)

P16-D-TYPE / P22-D-TYPE

42
199.8 [——‘
Remote Pressure
i il Control Port
# 1 [ PT1/4"
i i Drain ; ;
soLb | < > el
Pressure Adj. Screw PT3/8" ( j ] . Differential Pressure
(SOL"ON") ] (Non-Adjustable)
‘ 77| 49 ,
Flow Adj. Screw /‘ " 474 6 () Qil Supply Port g
0 | ‘
H 25.4 5 ( )
Key4.76 381 3
. 5 . 2

[T} — 8

DN 1 e

~D o

0

o

TN % J g a
g Bl —
222 125 °5| oS
Aoxte, 153 8« Outlet Inlet
181 2] Y SAEJ518b-3/4" SAEJ518b-1"
Q

P36-D-TYPE / P46-D-TYPE

317 (MAX) 45
Remote Pressure
Control Port
i i "
i B PT1/ Drain \Ni
Sonll 2 5 PT1/2 y y - .
Pressure Adj. Screw 88 60 i Differential Pressure
P o—— B {Non-Adjustable)
(SOL"ON") 6
D) Oil Supply Port 0
Flow Adj. Screw o w | s NN 8
@ +0.01 (%{ )
Key6.35 “o.01
N~
o i 8 (h 2 9 g ¢
o [+
Nl AN — X
— 2
D ) Q )
3 Tl 2
| — 0
| Y : = \i
o
e} T -
15 8 g 9
26.2 °°| oo
4-M10X16 8 o Outlet ::g Inlet
190 1| & . i
g SAEJ518b-1 172 SAEJ518b-1 1/4
222 8 !

BO7



Solenoid cut-off control type

P70-D-TYPE

130
57
Pressure Adj. Screw
A I | 34 (4 e i
Qil Supply Port [—— Drain (SOL"ON")
' >TSoLb PT3/4" ‘ ‘ o
N
Flow Adj. Screw [ — NN i
_ 50 5 9 } i
— A, (<

136

3V
Ea T Key7.94 16§; o /
m 3 ® 777L 0976’7 Lz%/ @ @ Lb(

M,
&
&
I
N
v
®
128

~D 3
A . | & N
Q
2lal= — @ g
o D | 8
© N
“’ IS o og0
4-M10X16 o
e NI 2 e __ Outlet _| 128 | e
223 85 g~ SAEJ518b-1 1/4" 172 SAEJ518b-1 1/2"
261
306

P100-D-TYPE

129
57 i
Drain Pressure Adj. Screw
73‘ E‘ L Oil Supply Port (SOL'ONY)
< > [soLb K\x - |
B _
Flow Adj. Screw lj1 By o . N !
. % | O ol
T+ = —m Keyo.53733 & C‘oe,éco S o
Se. 2
0 \}\\ W @ @ NI 3
e @ ] & N @
Q -
g oo ©
R : o :
\ : & @
Q
- © 3y @ g E
N )
~ A (]
: I @ T ©
429 4-M12X20 8 .
® 8 22| oo Outlet \ 161.6 \ Inlet
P SAEJ518b-2" ' ‘ SAEJ518b-2"
257 % 5 200
302
347 (MAX) 90

s BO8



Two pressure cut-off control type

P16-E3-F-R-01

__ Design code
Rotation R:

Clockwise(CW)
Flange mounting

30~145 kgf/cm?

L : Foot mounting

3:30~215 kgf/cm?

Mounting F:

Pressure adj. range 2:

Two pressure cot-off control type

Displacement 08,16, 22, 36, 46, 70, 100, (cm?®/rev)

P16-E-TYPE / P22-E-TYPE

42
245 (MAX) h
il
\Ni
SoL b < S Drain
Pressure Adj. Screw %f - PT3/8" | pressure Adj. Screw E) i
(SOL"OFF") (SOL"ON") Differential Pressure
\\,-Ff: B Qﬁ (Non-Adjustable) _
0 = ‘ 77 49 ) Oil Supply Port &
Flow Adj. Screw '—-‘ I | 6
i
& + 254| 5
Key4.76 *351 ,'N:
. | 3 3
Rt
— g8
T 7
%2, || N o
o NPT I g 3
5 [ Bas -
22.2 125 o3| 8 \
4-M10X16, 153 el e Outlet Inlet
o & SAEJ518b-3/4" SAEJ518b-1"
181 2
Q
317 (MAX) T_A45
Pressure Adj. Screw E ) I
(SOL"OFF") Differential Pressure
) (Non-Adjustable)
N/ Oil Supply Port @
Flow Adj. Screw 3
3 754
Nl
Key6.35 *881 | —1 < 0~
0 } 3 [h 2 © ® 3 ¢
0’- (]
TS N
i ©
N ' 5 o 7/
b ey, — 5 © "
< So ©
5 I ! 15 @ 9
26.2 § 8
4M10X16 190 s Outlet 112 Inlet
&« SAEJ518b-1" SAEJ518b-1 1/4"
222 8 172
Q

BOQ mmm



Pressure Adj. Screw | |

(SOL"ON")

Pressure Adj. Screw

(SOL'OFF")

SOL b

Oil Supply Port
34

Flow Adj. Screw ‘Q—TP

58.7

Two pressure cut-off control type

P70-E-TYPE

130
57
(&) ‘ Max Pressure Adj. Screw
)
Drain A%
PT3/4"
@\
© §2)
50 5 & \
7
- Key7.94 138! o . g
g . —1 o, b ® | @k 8
R e NWE
=5 b3S S §
o
o[q )% ° ® &
n
SRy ®
sl QO ®LY
4-M10X16 o9 %9
30.2 17 | 8 28 Outlet 128 Inlet
223 85 g © SAEJ518b-1 1/4" 172 SAEJ518b-1 1/2"
261
296 (MAX)
316 (MAX)

P100-E-TYPE

Pressure Adj. Screw

Pressure Adj. Screw

ﬁ (SOL"OFF")
SOl Qil Supply Pg%rt

Flow Adj. Screw t_

77.8

o 60 6
7m Key9.53 +3:81
— 1%
<
[9Y}
n
Q
& e,
] L] l
42.9 \ 4-M12X20 25 | 8 5 g
257 5 =
302 Q¢
347 (MAX) 20

smmmm B10

129
57 Max Pressure Adj. Screw
N —
b
W
@N)
NP
g
“ooeﬁ—( N 8
ol @ @ Q— 8
@
N z
N
@ 0 g
e T ©
Outlet \ 1616 L et
SAEJ518b-2" 200 SAEJ518b-2"




Load sensing control type

P16-HL3-F-R-01

Design code

Rotation R : Clockwise(CW)

Mounting F : Flange mounting L : Foot mounting
Pressure adj. range 2 : 30~145 kgf/cm? 3 :30~215 kgf/cm?
Load sensing control type

Displacement 08,16, 22, 36, 46, 70, 100, (cm®/rev)

P16-HL-TYPE / P22-HL-TYPE

Remote Pressure

Control Port 245 (MAX)
PT1/4" 60 . .
Pressure Adj. Screw Load Control Port 49 Dlﬁerentlgl Pressure
W\ 42 (Non-Adjustable)
Flow Adj. Screw } % 6 T Oil Supply Port
( ) % 254| 5 X
+0.01 (0] V\y
Key4.76 T501 =}
o ++ SRS = 8
? 28 1 [ 78 }
n !
n
o [ N2
§ = 8l
22.2 125 °%|os 106.4
AM10X16 153 8l Outlet / 124 Inlet
= 181 g & SAEJ518b-3/4" 130 SAEJ518b-1"

P36-HL-TYPE / P46-HL-TYPE

Remote Pressure 317 (MAX)
Control Port f
PT1/4" Load Control Port 60 63 Differential Pressure
' PT1/4" ‘ 6 45 (Non-Adjustable)
Pressure Adj. Screw [——~
Oil Supply Port
Flow Adj. Screw [ 1
l \® - 38 3 %‘ -
I
7 N
r I Key6.35 "398 o
# [h | o € ® s
o i g |8,
TS ? 7 gy
S5 171 Eo{H{
1)
e g 7« &) *ﬁ )
< P - ©
5 & . @4
26.2 15 o3| oo 144
4-M10X16 190 a9 Outlet 146 Inlet
222 % SAEJ518b-1" 172 SAEJ518b-1 1/4"

B11



Remote Pressure

Load Control Port

Load sensing control type

P70-HL-TYPE

Control Port PT1/4"
PT1/4"
Pressure Adj. Screw 34
i Oil Supply Port Drain
Flow Adj. Screw é PT3/4"
J |
% 50 5
— Key7.94 +331
® o
L
@ | 2
~0 ] %
N~
\ T ~1e3p | &
e\ 8
~ \——\
0 (-
0 sl &
4-M10X16 o5
30.2 17 ‘ 8 wl o
T i n
2225 85 ol @
Q
258
296 (MAX)
306 (MAX)

o/
v 1O 1 e |,
(74 ‘\Z%/@ @\\M g -
@
&N
@ & 3
D@ @&
Outlet 128 \ Inlet
SAEJ518b-1 1/4" 172 SAEJ518b-1 1/2"

P100-HL-TYPE

Remote Pressure
Control Port

PT1/4"

Load Control Port

PT1/4"
Pressure Adj. Screw

Drain

Flow Adj. Screw

Ol Supply Port
oURPY O praa
2 \ 91

01
1

i 60 6
s Key9.53*88
L]
[+ 9
S 3
Ny B
o 1)
23,
© 'z
N~
~
t I
42.9 4-M12X20 25 | 8 8 o
T Cd [=1=}
257 - -
5l -
302 8 9
347 (MAX) 20

smmmm B2

Outlet
SAEJ518b-2"

57

195

153

161.6

100

Inlet

SAEJ518b-2"




S

haft end pump model

DOUBLE PUMPS

PP36-A3-F-R-2A

Variable volume piston pump-Double Pump

Pressure adjusting range

Geometric displacement
Shaft end pump(Ref Model Number)

Control options

1+20~73 kgf/cm
2 : 30~145 kgf/cm?
3 : 30~215 kgf/cm?

Mounting

A : Pressure compensating type

B : Remote pressure control type

F: Flange mounting L: Foot mounting

Rotation

D : Solenoid cut-off control type

E : Two pressure cut-off control type

R ¢ Clockwise(Viewed from shaft end)

Thru-drive

HL : Load sensing control type

Model number :

2A:SAE A 2.55
2B:SAEB 01.6
(PP70+P36/46, PP100+P36/46)

P16-A3-S

Variable volume piston pump
(Cover end pump)

Geometric displacement
Cover end pump(Ref Model Number)

Control options

Pressure adjusting range

1 : 20~73 kgf/cm?
2 : 30~145 kgf/cm?
3 : 30~215 kgf/cm?

A : Pressure compensating type

B : Remote pressure control type
D : Solenoid cut-off control type
E : Two pressure cut-off control type

HL : Load sensing control type

Type of Shaft

St SAE
K : Cyli

A Spline
ndric, key

(PP70+P36/46, PP100+P36/46)

Shaft end pump PP16 PP22 PP36 PP46 PP70 PP100
Cover end pump
P08 [ ] [ ] [ ] [ ] [ ] [ ]
P16 [ ] [ ] [ ] [ ] [ J [ J
P22 [ ) [ ) [ ] [ ] [ ]
P36 ° °
P46 O o

PP16/22-A*-F-R-2A+PO08-A*-

S

Flow Adj. Screw

419
Pressure Adj. Screw 49 Pressure Adj. Screw 42 Oil Supply Port
Flow Adj. Screw 6
25| 5
Key 4.76 '3
B = ) ® @ 3 )
< o 3
B
s B 3 # f% g
] [Ts) ~— -
= 8 =
Y Q &J ®
%ﬁ% m : JJ:— TR ﬂ@ﬁj
Outlet 5 22,2\ 4-M10X16 (v Outiet /. 1064 Inlet__
PT1/2" 153 g & SAEJ518b-3/4' SAEJ518b-1
333 S

Flow Adj. Screw

Flow Adj. Screw

Q]
N
<

222

ply Port

84.5
143.5

51

451
Pressure Adj. Screw Flow Adj. Screw 49 Pressure Adj. Screw [—i Qil Sup|
6
25| 5
Key 4.76 1331
. @
¢ | % o N
o= E— = 8 /
%) — | He/ B J 1
ﬁ 8 =%
© 188 Outlet 106.4
4-M10X16 ~ 4-M10X16 o9 e utle :
< 22.2 8o SAEJ5180-3/4" 126
153 S| N
359 Q

P36/46-A*-F-R-2A

508

47.6

©

Pressure Adj. Screw

Inlet
SAEJ518b-1"

=

222

4-M10X16

Flow Adj. Screw 60 Pressure Adj. Screw 46 Oil Supply Port
38| 3
Key 6.35 7881
® @
o
7 ) L
+<5 p :):I: ) /Q g —
0Ky, 5 ) R s
= b [@> 4@]
S L5 5.8
B 26.2 \AM10X16 i 146
192 & & Outlet Inlet
405 N SAEJ518b-1" 170 SAEJs18b-11/40 D13 mem—
)




PP70-A*-F-R-2A+P16/22-A*-

Pressure Adj. Screw

DOUBLE PUMPS

PP70-A*-F-R-2A+P08-A*-S

. Drain
Pressure Adj. Screw Flow Adj. Screw PT 3/4!
Flow Adj. Screw
T\
@ 50 5
— i | Key 7.94 1331
i
© 9 ]
2
&
o —
& 3 :
Outlet P '

PT1/2" 0 8 9

30.2 4-M10X16 17 osles

R 8

223 8 = 0

@ ™

448 8 |
570

Pressure Adj. Screw

S

PP70-A*-F-R-2B+P36/46-A*-K

s B4

Flow Adj. Screw

Pressure Adj. Screw Drain

Drain
Flow Adj. Screw PT 3/4"
Pressure Adj. Screw
Flow Adj. Screw @ ; 50__ 5
‘ Key 7.94 1881
— @
|
o
oo °° o8
NI 3:
<
& %y H ? 5y %
S
4-M10x16 © g g
30.2 4-M10X16 17 od|os
| v
223 8 Nl @
474 85 é 3
602

Pressure Adj. Screw PT3/4
Flow Adj. Screw @ T 50 5
j‘ Key 7.94 881
il i .
5 l
aFfe e 1 ® 6 3
[3Y] +
w0 ~
(3]
K N2y ] <30 3
H S
n
6.2 AM10X16 30.2 4-M10X16 17 =R
- 223 8 © 9
513 8 |zl8
Q
652

57 Qil Supply Port
@} M
Acoej éa )29 N~
&S ol <
g 3
® | odl 8
Nk
kﬁ
o\ :
UD @ @Lo
Outlet 128 Inlet
SAEJ518b-1 1/4" 172 SAEJ518b-1 1/2"

57

Oil Supply Port

670/

DB
S

&é

136
147

128

Outlet
SAEJ518b-1 1/4"

@f\

Inlet

Oil Supply Port

SAEJ518b-1 1/2"

136

128

&%

147

Outlet
SAEJ518b-1 1/4"

86

@r\

Inlet

SAEJ518b-1 1/2"




DOUBLE PUMPS

PP100-A*-F-R-2A+P08-A*-S

. Drain Differential Pressure Oil Supply Port
Pressure Adj. Screw Flow Adj. Screw PT 3/4" (Non-Adjustable)
. i
Flow Adj. Screw @ @) 60_._6 '000 (s o 0
o | Key 9.53*38! S |52
Se ol 2
@ @ \P( ©
e o o & X @| e
oo ©
a o a -
5 o/ \J
- (=]
. Q 8 ® @ || |8
Outlet ~ N
PT1/2" ~ " - Z}@ @4
429 4-M12X18 25 8 0: o:.' Outlet 161.6 \ Inlet
257 g o SAEJ518b-2" 200 SAEJ518b-2"
489 90 | °
615.5
*k *
PP100-A*-F-R-2A+P16/22-A*-S
’ 57 .
Flow Adj. Screw Drain Differential Pressure Oil Supply Port
Pressure Adj. Screw PT3/4 (Non-Adjustable)
Flow Adj. Screw h ivusall
60 6 &
@ T O 1 OOGP 4 Ve 3
® o Key 9.53 1381 906 5=
? o ©
@ ® W1 e
{ /e o e & @|e
o1 ¢ oS ©
5 ) 5 a -
LQM— Uz/ : \;
N - o
| e | ¢ ° ® ®| |8
4-M10X16 N X AR
22.2 C &l g @ k. @
429 4-M12X18 25 8 it s Outlet 161.6 | inlet
257 gl o SAEJ518b-2" 200 SAEJ518b-2"
Q
515 90
648

PP100-A*-F-R-2B+P36/46-A*-K

57

. o Oil Supply Port
Pressure Adj. Screw  Flow Adj. Screw E_fra'n _ Dl\llfgirTsu_alsfarglsesure PRy
Flow Adj. Screw 3/4 ( ju )
)
60__6 A
O 009 € < 3
® © ;o Key 9.53 ) 5 2
g L s. ) ® Neg 8-
A § /e e . ® @|e
< @@ s o
o JdhY :‘r 3\ -
0 N o \
Bl ® 0| |8
~ "
262 4-M10X16 ~ : 3 8 DO @KL
22 AMiBas - 2 8 e Outlet 161.6 L intet
257 glq SAEJ518b-2" 200 SAEJ5185-2"
554 90 b
698

B15 mssm



@ Cross Section Drawing

PO8-TYPE

18)16)(8)10(37)34)11)(22)30)(15) 27 PO8-TYPE
L

,,,,,, Gasket
| o 23 Ball Bearing 6205 1
: 24 Ball Bearing TA 1720 1
i EEE 25 Qil seal TCN 2545 11 1
FES) me
I 30 Oil-ring P11 1
31 Oil-ring P9 1
M6971326351 23

P16/22/36/46-TYPE

P16/22/36/46-TYPE

Part P16/22-TYPE| P36/48-TYPE[
Name

Gasket 1

23 Ball bearing 6305 6306 1

24  Needle Bearing TA 1720 TA 2025 1

+— 25 Oilseal TCN 254511 TCN3050 11 1
,;: @ 29 Oil-ring G58 G70 1
""" A 30  Oil-ring P14 P14 1

31  OQil-ring P10A P14 1
(28Y14)(4 X216 )(9)(7)(10(13) 35)(1)(23)(29

Bady Barrel holder Guide Oil seal Expander plug
2 Case 10 Swash plate 18 Needle 26 Snap ring 34 Machine screw
3 Shaft 11 Thrust bush 19 Key 27 Snap ring 35 Machine screw
4 Cylinder barrel 12 Seal holder 20 Nut 28 Snap ring 36  Flow adj. screw
5 Valve plate 13 Gasket 21 Retainer 29 O-ring 37 Spring Holder
6 Piston 14 Spring 22 Plug 30 O-ring
7 Shoe 15 Spring 23 Ball bearing 31 O-ring
8 Shoe holder 16 Control Piston 24  Needle bearing 32 Pin



P70/100-TYPE

36)(20)(2) (43)(31)(20)(17) (16) 32)(50) (33) (51 0 (22)(30)(37)(39) (11)(34)
P70/100-TYPE
Part
\ No. | Name

13 Qil-ring G130 G155 1

23 Ball bearing 6309 6310 1

,,,, : J 24 Needle bearing RNA 6905 TR 3548 30 1

rﬁLE 25 Oil seal TCN 456812 TCN507212 1

29 Oil-ring G95 G105 1

S v \ 30 Oil-ring P14 P14 1
1 Ry & 31 Oil-ring P14 P16 1
T 39 Oil-ring G50 G50 1

40 Qil-ring P34 P36 1

41 Oil-ring P9 P9 1

46) (a4) (a9)(a8) (a7)(a1)(2)(24((5)28)14 (6)(2)(7)38)(10) 48 Oil-ring o s :

Pressure compensator CRoss Section Drawing

PO08/16/22/36/46-A-TYPE P70/100-A-TYPE

WW

T

A Gy ==l

&ELL 23

EONCITN T I N C

5 |
fL
I T

BIDIO

Oil-ring P14 Oil-ring
10 Oil-ring P6 3 18 Oil-ring P9 3
11 Oil-ring P6 1 19 Oil-ring P5 1
20 Oil-ring P12 1
21 Oil-ring P10A 1

B17 v



PERFORMANCE DATA

PO -F-01 , OIL VISCOSITY ISO VG32
Efficiency Curves Input power at Deadhead
15 =
— Flow Q £ 20
ow 1800min-1 = —
min-____ 113 o |
12 3 S —
Ssoomn—| & sk
Volumetric efficiency ) 15|y
100 g
—_ — c -
T 9 5 -
g overall efficiency 53 |
g % S 10
§ 70 4 i .
= [ A
i — i
£ 60 S = 6 ng_ o y
50 RS s ¢ F -
= 4 = g O 150!
Input P N 5 £ —
nput Power o % — ?
2 & —
= —
I3 %5 7 14 21
0 7 7 o (71.4) (143) (214)
(71.4) (143) (214) Pressure P Mpa (kgf/cm?)

Pressure P Mpa (kgf/cm?)

Pressure-Flow Curves Noise Level

1m form pump

=
E 14 1 FI(sz 8
= 1800
S 00min-1
g 12
[ PP —
1500min-!
< 70
o
©
°
>
6 3 v
Q o
3 500"800
Input B 2 60 Max Flow
| Power | L 1q =
W 9]
& = 5
00‘(\\ 2 =
A g
3
0 = 50
0 7 14 21 0 7174
(71.4) (143) (214) (71.4)
Pressure P Mpa (kgf/cm?) Pressure P Mpa (kgf/cm?)

7
6 3
Q=14.4

5 (/min
= Q=12 =
2 (/min —
3 E 2
- 4 Q=10 E
2 (jmin =
[} = o
; 3 (/min e
o Q=6 s 1
5 4 (/min a Full Cut off

— Full Flow
.
1 I
0 7 14 21
; (71.4) (143) (214)
0 7 14 21 Pressure P Mpa (kgf/cm?)
(71.4) (143) (214)

Pressure P Mpa (kgf/cm?)

smmmm B8



PERFORMANCE DATA

OIL VISCOSITY ISO VG32

Efficiency Curves Input power at Deadhead

30 =
—_— €
T8oomin |28 £ 20
Flow Q 26 = |
g -
; 24 g -
— 3 =
_| 1500min 2 g ..
_ 100 Volumetric efficiency 3 S
£ 90 | £ -
L:f 80 overall efficiency ——| 3 I
3 70 S 10
o ® — LA
T 60 // o 12 a;; - 4goormi®
o —
50 RS - 10 - 8 — —
w4— 8 = 5 05 ot
Input Power ,\600‘“\ 6 & §- I / 150
4 5 : /
2 3 C
=~ 0 _g- 0 0 7 14 21
0 7 14 21 (71.4) (143) (214)
(71.4) (143) (214) Pressure P Mpa (kgf/cm?)

Pressure P Mpa (kgf/cm?)

Pressure-Flow Curves Noise Level

€ 30 T 1m form pump
£ u -
s 8 FlowQ || 1800min 80
(¢]
g 24
u_o. 1500min-1
70
% "'\"
° 4800 —
5 L}
3 } :
P /
12 = y 500‘“.\“.\
Input Power| 5 2 60 | 1 Y
A T
S\ A [g = z Full Cut off }
¢ e = i
A \600 g
4 &
3 50
0o =
0 7 14 21 0 7 14 21
(71.4) (143) (214) (71.4) (143) (214)

2!
Pressure P Mpa (kgf/cm?) eSSt ealCoreny)

14
3
i Q=30
(/min =
- 10 —
s Q=25 5
< (/min E 2
5] 8 = |
z Q=20 a
s 0/min = Full Cut off
g 6 _ s 1
IS 8—]5 a
min e
4 Q=10 Full Flow
/ﬂ/min - \
2 0 7 14 21
(71.4) (143) (214)
Pressure P Mpa (kgf/cm?)
0
0 7 14 21
(71.4) (143) (214)

Pressure P Mpa (kgf/cm?)

B19



PERFORMANCE DATA

P22-A*-F-01 OIL VISCOSITY ISO VG32
Efficiency Curves Input power at Deadhead

40 =
1800min1__{35 E
e —— 30 = 2.0
Flow Q 1500min-t le] |
25 g |
— o S I
100 Volumetric efficiency nv i 15
< 90 ‘. - § I __\
2; 80 / overall efficiency nv 5 | \600‘“\“
o -
§ 70 VA B 16 Q 40
S 60 & 114 S - )
e Q! = | u
o 59 / A | = 2 I // 1500
2 o)
S 10 £ R
Input Power AD s § 3 05
2 -
6 & - —
4 3 —
2 —% 0
0 7 14 21
0 71.4 143 214
0 7 14 21 iy (143) , @14
(71.4) (143) (214) Pressure P Mpa (kgf/cm?)

Pressure P Mpa (kgf/cm?)

Pressure-Flow Curves Noise Level

5 1m form pump
E 40 1800min' | |
= Flow Q ) 80
(¢)
2 0 {t500min" | |
o
< 70 A
Q 00‘-\'\\\'\ -
% Max Flow V
Input //] 3 //
= | . i
Power R ~ \ 12 2 // ‘500“““1 |
& S s k) —— FullCutoff} ‘
S g = =2 @@ i ;
[
2
A 4 &
5
o
0 £
0 7 14 21 D5 7 14 21
(71.4) (143) (214) (71.4) (143) (214)
Pressure P Mpa (kgf/cm?) Pressure P Mpa (kgf/cm?)

16 1
Q=_40
14 (/min
Q=35
/ (/min 3
12
Q=30 —
(/min
= 10 =
g Q=25 £
= {/min =]
[} T |
z 8 -
& // 8mi2r10 % ; Full Cut-off
g s 8 —
£ _
B Full Flow
! - I
0 7 14 21
2 (71.4) (143) (214)
Pressure P Mpa (kgf/cm?)
0
0 7 14 21
(71.4) (143) (214)

Pressure P Mpa (kgf/cm?)

ssssm B20



PERFORMANCE DATA

P36 0) OIL VISCOSITY ISO VG32
Efficiency Curves Input power at Deadhead
65 €
I E—— 60 g 4
Fi 7800min-1 = -
ow Q min 55 2 —
p— I
- 50 ©° =
1500min-! i é s
100 Volumetric ?ﬁ|C|ency nv § —
g o ] f‘f g
overall efficiency nv I — A
g 80 o 2 ey
s o/ g [ 180
[$] = |
g 60 / . 30 2 N //
¥ s o | LA
50 ,\%00‘“ — 2 E ; 1 ‘500“\\(\
~ o |
Input Power \600“\“\'\ g 5 | /
10 o I~
3 0
o £ : e b &
71.4 4 p)
0 7 14 21 (71.4) (143) (214)
(71.4) (143) (214) Pressure P Mpa (kgf/cm?)

Pressure P Mpa (kgf/cm?)

Pressure-Flow Curves Noise Level

‘ 1m form pump
£ 70 | 80
€
=) 1800min-1
60
g Flow Q
£ A
* 50 oy
1500min-! < 7 4800 /
ESS Max Flow r R
2 e
> it
2 T FullCutoff |
30 o
Input = 2 60
Power \ /\ 20 -i
" =
‘\%00((\\ ) %
0“{\(( 10 o
A0 5
a
o = 0 7 14 21
0 7 14 21
(71.4) (143) (214) (71.4) (143) (214)
2)
Pressure P Mpa (kgf/cm?) Pressure P Mpa (kgf/cm?)

28 l
Q=60
24 {/min 8
/ Q=50
-~ 20 {/min .
g £ 2
5 Q=40 E
1 © Gimi 5 —
a Full Cut off
% Q=30 2 ull Cut o
3 12 {/min s 1
= (]
8
4 0 7 14 21
(71.4) (143) (214)
0 Pressure P Mpa (kgf/cm?)
0 7 14 21
(71.4) (143) (214)

Pressure P Mpa (kgf/cm?)

B21 mm



PERFORMANCE DATA

P46-A*-F-01 OIL VISCOSITY ISO VG32
Efficiency Curves Input power at Deadhead

— 80 ’g .
Flow Q T 1800mnTT— 75 = —
70 © —
—— 1500min-1 65 E E —
100 i _ min w T.%, 3 -
< 9 Volumetric efficiency nv 8 B 0\1\'\\"’\
= 80 overall efficiency nv S - y
%) S |
8 // S
= d = A
= 60 = 1}
w A [} — 500!
= I o % 2 - // "
RS S - —
S P B g 1
\\ S E— = -
Input Power \600“\ 5 = |
10 2 =
5 0
g 0 7 14 21
0o = (71.4) (143) (214)
0 7 14 21 2
(71.4) (143) (214) Pressure P Mpa (kgf/cm?)

Pressure P Mpa (kgf/cm?)

Pressure-Flow Curves Noise Level

. 1m form pump
E 8 80
= Flow Q ][ 1800min )
C;‘ 70
— |
u_C_» 1500mijn-1 4
< 70 ———— MaxFlow
3] / ot
o T 4500
5 /:/
30 3 i Full Cut off
Input /\ 2 |
P B )
OWez((\ P o é 2 60
oS o]
> < \ %
@ 10 o
e E
£
0 50
0 7 14 21 0 7 14 21
(71.4) (143) (214) (71.4) (143) (214)
Pressure P Mpa (kgf/cm?) Pressure P Mpa (kgf/cm?)

32

Q=80
(/min
28

Q=70
/ 0/min 3
24 Q=60 L
(/min
20 d

=
2 Q=50 :
£ / / {/min g /
= I :
a?: 16 Q=40 a Full Cut off
3 2 6
Q
E I et
8 / ................................. .
|
’ 7 14 Py
4 2 (71.4) (143) (214)
0 Pressure P Mpa (kgf/cm?)
° v 14 =

(71.4) (143) (214)
Pressure P Mpa (kgf/cm?)

mmmmm B22



PERFORMANCE DATA

-F-01 OIL VISCOSITY ISO VG32
130 £
B 1800min" | [, E
Flow Q 110 § 8
> [
— 100 —
1500minT 2 E I
100 Volumetric ef‘flaeqcy nv § 6
£ 90 ‘ e
= 80 overall efficiency nv B - N
[ o} - R
& 70 / 9 4 %00«\\
] / 5 [ A
o 60—/ 60 1] B
S 50 g L -
50 -
o 3 = o QO
y 600‘“\“77 40 é = 2 A%
Input Power A 30 & 3 I /
= - |
20 E ——
10 3 0 7 14 21 28
Q
el o £ (71.4) (143) (214) (286)
0 7 14 21 28
(71.4) (143) (214) (286) Pressure P Mpa (kgf/cm?)
Pressure P Mpa (kgf/cm?)
T 140 1m form pump
=
= 80
s FlowQ | 1g00min | |
8
[ D
100 —
1500min-! < 70
<8 —
3 Max Flow | 1800miT—
= L —T |
% — - 1)
X! n o
- ~1 160 3 — T Fulcutofr | 18007 |
\\§ . G |
Input g 4\ w0 £ z @
Power / o g
A 20 &
/ § 2y
0o - 0 7 14 21 28
0 7 14 21 28 (71.4) (143) (214) (286)
(71.4) (143) (214) (286) Pressure P Mpa (kgf/cm?)
Pressure P Mpa (kgf/cm?)
Q=126
60 (/min
Q=100
U (/min < [
Q=80 4
5 @9 0/min = |
= £ 3
5 Q=60 =
2 30 (/min o — Full Cut off/
) a
o c 2
5 g |
g = e
10 — Full Flow
/ 0 7 14 21 28
(71.4) (143) (214) (286)
0 7 14 21 28

(71.4) (143) (214) (286) Pressure P Mpa (kgffem?)

Pressure P Mpa (kgf/cm?)

B23 mmem



P100

-F-01

5
180 £
Flow Q 1800min! 1160 5’
140 2
1500min-T u—‘?
100 Volumetric efficiency nv
€ 9% — —
> 80 / overall efficiency nv 80
c
o 70 .
E 60 / 0(({\(\ _
i e = 60 3
50 \ <
‘\‘500“\ 5]
40 =2
Input Power o
20 2
0
0 7 14 21 28
(71.4) (143) (214) (286)
Pressure P Mpa (kgf/cm?)
180 +— FlowQ
| 1800min ™ )
140 ————
[1500min™ )
__ 100
£
£
= 80
(]
% 60
c z
40 2
o
o
20 3
£
0
0 7 14 21 28
(71.4) (143) (214) (286)
Pressure P Mpa (kgf/cm?)
100
Q=180
(/min
80
Q=140
{/min
é 60
et Q=100
5 0/min
&
= 40
3
E Q=60
(0/min
20

0

smmmm B24

7
(71.4)

14 21 28
(143) (214) (286)

Pressure P Mpa (kgf/cm?)

PERFORMANCE DATA

Noise Level db(A)

Input Power at Deadhead (kw)

Drain DR({/min)

OIL VISCOSITY ISO VG32

8
o
I .
¢ \\
— -
: /
— -
2 o
—
o
° g 14 Py —
7 (143) (214) (286)
Pressure P Mpa (kgf/cm?)
1m form pump
80
M 1800min"
70 % o~ =
“ Al
L —
H Full Cut ofﬁ
60
50
° v 14 oY -
v (143) (214) (286)
Pressure P Mpa (kgf/cm?)
5
4
8 Full Cut off
2
- /
1 ..........................................
I -
|
° 4 14 pY -
T (143) (214) (286)

Pressure P Mpa (kgf/cm?)



